

Service TAX Invoice		Page 1 of 4		3		Doc #: GFCSF285003			
Customer No. 205031	Customer Name & Address			Advisor	Colour	Team			
Doc. Date 20/10/25				Year / Make / Model 09/ISUZU/NLR200 MEDIUM			Tag No.		
Reg. No. 1UR8MJ				Model No. NLRAA-B01-200-NH		Carline NH SERIES		Eng./Trans.	
Stock No. A47213				Chassis No. 100329		Kilometres 250095	Prod. Date	Orig. Del. Date 11/08/09	
Purchase Order No.	Driver	Contract No.		Contract Name	Contract Exp. Kms	Exp. Date			
<input type="checkbox"/> CASH <input type="checkbox"/> CHEQUE <input type="checkbox"/> CREDIT CARD <input type="checkbox"/> ACCOUNT	Home Phone 0405642869	Business Phone 0405642869	Terms Pending	Selling Dealer	Delivery Kms.	Delivery Date 11/08/09	Warr. Exp. Date		
	Vehicle ID. JAANLR85H87100329		Engine No. 4JJ1-808626	Date & Time Promised 17/10/25 04:30pm	Time Received 07:30am	Quote Price	Air Pwr Turb		
Driver Mobile		Fleet Number		Hour Meter		Reg Exp Date			
Email Address cartelcc@bigpond.com		Contact Mobile		Contact Name		Business Email			
Survey Contact		Survey Email							

Labour	Operation	Description	Units	Amount
Job# 1	66ISZZZTOW	Tow in	Tech(s): 1435	527.80

TRUCK GETTING TOWED IN - CUSTOMER REPORTS - TRUCK WONT START.

REPLACE BATTERIES AND DIAGNOSE ENGINE LIGHT ON, RUNNING ROUGH BLOWING EXCESSIV

Parts	Qty	Number	Description	Unit Price	Amount
Job# 1	2	ISCYB123842	BATTERY ISUZU NS70LH	195.78	391.56
Sublet	Vendor Inv#	PO#	Description	Invoice Date	Amount
Job# 1	9746	4S42852	clean out intercooler	14/10/25	155.20
<<< Total For Job 1 >>>					1074.56

Job# 2	91ISNNR8580F165	165.000KM SERVICE	Tech(s): 1445	565.50
--------	-----------------	-------------------	---------------	--------

S+F- new LHF indicator lamp.
S+F new wiper inserts.

Customer Instructions:
INVOLVEMENT IN SERVICE IS AS FOLLOWS (165.000KM SERVICE)

Connected GIDSS checked and noted any codes recorded
Lubed all points & pivots. Changed engine oil & oil filter/s
Fuel filter/s not due. drained water trap. Checked tyre pressures
Check & adjusted brakes, hand & foot. Adjusted clutch
Checked all levels (oil & water) Checked for oil & water leaks
Checked all lights, instrments, wipers, heater & a/c Service battery/s
Checked tailshaft bolts, exhaust system, all 'u' bolts & mounts
Checked steering joints and tightened wheel nuts
Checked mirrors, exhaust brake, engine idle and full throttle
pressure tested cooling system. Checked 'V' belts & tested coolant
Tightened manifolds & exhaust system. Serviced air cleaner

Service TAX Invoice		Page 2 of 4		3		Doc #: GFCSF285003	
Customer No. 205031	Customer Name & Address			Advisor	Colour	Team	
Doc. Date 20/10/25				Year / Make / Model 09/ISUZU/NLR200 MEDIUM			Tag No.
Reg. No. 1UR8MJ				Model No. NLRRA-B01-200-NH	Carline NH SERIES		Eng./Trans.
Stock No. A47213				Chassis No. 100329	Kilometres 250095	Prod. Date	Orig. Del. Date 11/08/09
Purchase Order No.	Driver	Contract No.		Contract Name	Contract Exp. Kms	Exp. Date	
<input type="checkbox"/> CASH <input type="checkbox"/> CHEQUE <input type="checkbox"/> CREDIT CARD <input type="checkbox"/> ACCOUNT	Home Phone 0405642869	Business Phone 0405642869	Terms Pending	Selling Dealer	Delivery Kms.	Delivery Date 11/08/09	Warr. Exp. Date
	Vehicle ID. JAANLNR85H87100329	Engine No. 4JJ1-808626		Date & Time Promised 17/10/25 04:30pm	Time Received 07:30am	Quote Price	Air Pwr Turb

Record coolant concentration (40-60%), replace if out of spec

Job#	Qty	Part No.	Description	Unit Price	Total Price
Job# 2	1	IS8980188580	ELEMENT OIL FILTER	20.95	20.95
Job# 2	1	IS8979125310	GASKET DRAIN P	1.89	1.89
Job# 2	1	ISGLOBE	GLOBE	1.21	1.21
Job# 2	1	IS8980537930	RUBBER FRT WIPER BLADE	14.18	14.18
Job# 2	1	IS92956471	FILTER FUEL,2 MICRON	20.05	20.05
Job# 2	1	IS8981554590	LAMP TURN SIGN	71.63	71.63

Petrol, Oils, Lubricants and Supplies

Amount

Job# 2	ISUZU NEXTGEN	129.00
Job# 2	RECYCLING CHARGE TRUCKS	32.50
Job# 2	CHASSIS GREASE	26.91

<<< Total For Job 2 >>>

883.82

Job# 3	99IS-11-Z-03-01	N SER REV SWITCH 1	Tech(s): 1295	Warranty
--------	-----------------	--------------------	---------------	----------

INSPECTION TYPE 1. INSPECT AND REPOSITION HARNESS
FAILURE CODE 95
CASE TYPE 08

Job# 4	94ISTRZZ11	ENG EXCES OIL USE	Tech(s): 1295	2145.00
--------	------------	-------------------	---------------	---------

TURBO INTERNALLY FAILED REQ NEW TURBO AND DPD INTERNALLY BLOCKED BY OIL - ALL GASKETS AND HOSES,PIPES REQUIRED TO BE REPLACE WITH TURBO AND DPD UNIT SEND INTERCOOLER AWAY FOR FLUSH

Drained coolant from engine & radio
Dis-assembled both intake & exhaust sides of engine.
Removed Intercooler for cleaning.
Cleaned oil out of ports in cylinder head.
Adjusted valve clearances.
Cleaned all exhaust/intake components to be refitted due to oil ingress.
Replaced various deteriorated coolant hoses & hose clamps
Re-assembled exhaust side of engine with new gaskets/seals etc.
New EGR cooler & Turbocharger.
Re-assembled intake side of engine with new gaskets/seals etc.
New EGR valve, Injector pipe o-rings, Injector pipes.

Service TAX Invoice		Page 3 of 4		3		Doc #: GFCSF285003	
Customer No. 205031	Customer Name & Address			Advisor	Colour	Team	
Doc. Date 20/10/25				Year / Make / Model 09/ISUZU/NLR200 MEDIUM		Tag No.	
Reg. No. 1UR8MJ				Model No. NLRAA-B01-200-NH	Carline NH SERIES		Eng./Trans.
Stock No. A47213				Chassis No. 100329	Kilometres 250095	Prod. Date	Orig. Del. Date 11/08/09
Purchase Order No.	Driver	Contract No.		Contract Name	Contract Exp. Kms	Exp. Date	
<input type="checkbox"/> CASH <input type="checkbox"/> CHEQUE <input type="checkbox"/> CREDIT CARD <input type="checkbox"/> ACCOUNT	Home Phone 0405642869	Business Phone 0405642869	Terms Pending	Selling Dealer	Delivery Kms.	Delivery Date 11/08/09	Warr. Exp. Date
	Vehicle ID. JAANLR85H87100329	Engine No. 4JJ1-808626		Date & Time Promised 17/10/25 04:30pm	Time Received 07:30am	Quote Price	Air Pwr Turb

Replaced thermostat & radiator cap.
Refit intercooler & intake duct piping.
Removed DPD, exhaust brake, and exhaust throttle. Various rusted bolts had to be cut off & replaced.
Cleaned Ex. Brake, Ex. Throttle, & exhaust piping.
Re-assembled exhaust w/ new DPD unit & new gaskets.
Filled, bled, & pressure tested cooling system.
Reset DPD regeneration data & set for automatic regeneration.

Job# 4	1	IS92957733	ISUZU LONG LIFE A/FREEZE	107.75	107.75
Job# 4	1	IS8980170272	THERMOSTAT	41.23	41.23
Job# 4	1	IS8972391870	CAP RAD	35.88	35.88
Job# 4	1	IS8973838141	HOSE WATER-RAD OUTLET	36.09	36.09
Job# 4	1	IS8973838121	HOSE WATER-RAD INL	26.84	26.84
Job# 4	1	IS92959619	4JJ1 EURO 5 TURBO KIT	2092.19	2092.19
Job# 4	1	IS8982157520	GASKET EXH MAN	19.91	19.91
Job# 4	1	IS8980945282	GASKET EGR VLV	7.58	7.58
Job# 4	1	IS8973576843	GASKET EGR PIPE	10.60	10.60
Job# 4	1	IS8980175510	GASKET EGR PIPE	12.54	12.54
Job# 4	1	IS8982129990	GASKET INL MAN	9.79	9.79
Job# 4	1	IS8980969680	GASKET T/V	7.01	7.01
Job# 4	1	IS8973845900	GASKET PIPE TO MANIF	10.15	10.15
Job# 4	1	IS8973731080	GASKET EXH BRAKE UNIT	7.88	7.88
Job# 4	2	IS8980227130	GASKET EXH BRK VLV-BODY	23.93	47.86
Job# 4	2	IS8973731080	GASKET EXH BRAKE UNIT	7.88	15.76
Job# 4	1	IS8980845954	DPD ASM	2712.26	2712.26
Job# 4	1	IS8980293990	HOSE DPD	22.69	22.69
Job# 4	1	IS8980294000	HOSE DPD	22.69	22.69
Job# 4	1	IS8980116060	PIPE INJ NO.1	47.01	47.01
Job# 4	1	IS8980436840	PIPE INJ NO2	53.69	53.69
Job# 4	1	IS8980116080	PIPE INJ NO.3	47.01	47.01
Job# 4	1	IS8980116090	PIPE INJ NO.4	47.01	47.01
Job# 4	4	IS1096390340	GASKET SLEEVE,INJ PUMP	29.01	116.04
Job# 4	1	IS8979453380	GASKET HD TO COVER	39.23	39.23
Job# 4	4	IS8980375430	COVER SEAL-NOZZLE	23.91	95.64
Job# 4	4	IS8982162690	GASKET CAM END	16.60	66.40
Job# 4	0	IS8980537900	BLADE WIPER	31.60	0.00
Job# 4	1	IS8982382592	VALVE EGR	169.09	169.09

Service TAX Invoice		Page 4 of 4		3		Doc #: GFCSF285003	
Customer No. 205031	Customer Name & Address			Advisor	Colour	Team	
Doc. Date 20/10/25				Year / Make / Model 09/ISUZU/NLR200 MEDIUM		Tag No.	
Reg. No. 1UR8MJ				Model No. NLRRA-B01-200-NH	Carline NH SERIES		Eng./Trans.
Stock No. A47213				Chassis No. 100329	Kilometres 250095	Prod. Date	Orig. Del. Date 11/08/09
Purchase Order No.	Driver	Contract No.		Contract Name	Contract Exp. Kms	Exp. Date	
<input type="checkbox"/> CASH <input type="checkbox"/> CHEQUE <input type="checkbox"/> CREDIT CARD <input type="checkbox"/> ACCOUNT	Home Phone 0405642869	Business Phone 0405642869	Terms Pending	Selling Dealer	Delivery Kms.	Delivery Date 11/08/09	Warr. Exp. Date
	Vehicle ID. JAANLR85H87100329	Engine No. 4JJ1-808626		Date & Time Promised 17/10/25 04:30pm	Time Received 07:30am	Quote Price	Air Pwr Turb

Job# 4	1	IS8981645701	COOLER EGR	457.99	457.99
Job# 4	1	IS8980151180	HOSE RUBBER	18.24	18.24
Job# 4	1	IS0036661000	HOSE RUBBER	18.59	18.59
Job# 4	1	IS8972621170	GASKET WATER PIPE	2.74	2.74
Job# 4	1	IS5096230020	GASKET GUIDE TUBE,OIL LVL	4.74	4.74
Job# 4	1	IS8973070752	STUD MANIF TO CYL HD	5.18	5.18
Job# 4	1	IS8973816170	NUT EXH MANIF	1.33	1.33
Job# 4	2	IS8980227130	GASKET EXH BRK VLV-BODY	23.93	47.86
Job# 4	4	IS9095661110	GASKET FUEL INJECTOR	3.76	15.04

<<< Total For Job 4 >>>

8644.53

Comments

| 0405 642 869

Total Labour 3238.30
Total Parts 7021.00
Total POL 188.41
Total Sublet 155.20
Total Misc 0.00

Total Tax 1060.29

TOTAL INCLUDING GST

Total Invoice 11663.20